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Section : General Intelligence

Q.1 Select the number from among the given options that can replace the question mark
(?) in the following series.
14, 15, 30, 33,132, ?
Ans X 1.135
X 2.660
" 3.137
5 4.136
Question ID : 630680370356
Option 1 ID : 6306801442812
Option 2 ID : 6306801442811
Option 3 ID : 6306801442810
Option 4 ID : 6306801442809
Status : Not Answered
Chosen Option : --
Q.2 Select the letter-number cluster from among the given options that can replace the
question mark (?) in the following series.
C55Y, W41E, Q29K, K19Q, ?
Ans X 1.E13X
& 2. E1MW
& 3. E1MX
& 4. F11X
Question ID : 630680370344
Option 1 ID : 6306801442761
Option 2 ID : 6306801442762
Option 3 ID : 6306801442764
Option 4 ID : 6306801442763
Status : Answered
Chosen Option : 2
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Ans

and one is different. Select the one that is different.
" 1.JPM: OUS

X 2.BOE:GUJ
& 3.RLT: WRY
# 4.QEJ: VKO

Q.3 Four letter-cluster pairs have been given, out of which three are alike in some manner

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

630680370349
6306801442781
6306801442782
6306801442783
6306801442784
Answered

1

Q.4 Avinash, Bhuvan, Digvijay, Mahesh, Ravinder, Vivan and Umesh live on different floors

of the same building. The lowermost floor in the building is numbered 1, the floor
above it, is number 2 and so on till the topmost floor is numbered 7. Umesh lives on

the floor immediately above Vivan. Digvijay lives immediately above Bhuvan and

immediately below Ravinder. Mahesh does not live on any floor immediately above
Umesh or above Ravinder. Bhuvan lives on the third floor which is immediately above

Avinash. Which floor does Mahesh live on?

Chosen Option :

Ans X 1.Sixth
& 2. Seventh
" 3. First
75 4. Fifth
Question ID : 630680370340
Option 1 1D : 6306801442747
Option 2 ID : 6306801442745
Option 3 ID : 6306801442746
Option 4 ID : 6306801442748
Status : Answered
Chosen Option : 3
Q.5 A dance school has classes for teaching six different dance forms - hip-hop dance,
bharatnatyam, contemporary dance, salsa, ballet and kathak - each on a different day
of a week starting from Monday and ending on Saturday of the same week, but not
necessarily in the same order. Ballet class is scheduled on Monday. Hip-Hop dance
class is on Friday. Salsa class is on the day immediately after hip-hop dance class.
Only three classes are scheduled between Contemporary dance and Salsa classes.
Only kathak class is scheduled between hip-hop dance and bharatnatyam classes. On
which day is bharatnatyam class scheduled?
Ans X 1.Thursday
" 2. Wednesday
& 3. Saturday
X 4. Tuesday
Question ID : 630680370339
Option 1 ID : 6306801442743
Option 2 ID : 6306801442742
Option 3 ID : 6306801442744
Option 4 1D : 6306801442741
Status : Not Answered
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Q.6 What will come in the place of the question mark (?) in the following equation, if ‘+’ and
‘~‘ are interchanged and also ‘x’ and ‘+’ are interchanged?
40-84x7+15+3="7°

Ans X 1.5
X 2.43

3.7
X 4.28

Question ID : 630680370359
Option 1 ID : 6306801442821
Option 2 ID : 6306801442824
Option 3 ID : 6306801442822
Option 4 ID : 6306801442823
Status : Answered
Chosen Option : 3

Q.7 In a certain code language,' FLORAL' is written as ‘GM4S1M’, 'ETHNIC' is written as
‘2UI03D’. How will ‘'STABLE’ be written in that code language?

Ans X 1.RS1CM5
o 2. TUICM2
< 3. TUICM5
#< 4. TUBCM2

Question ID : 630680370346
Option 1 ID : 6306801442769
Option 2 ID : 6306801442771
Option 3 ID : 6306801442772
Option 4 ID : 6306801442770
Status : Answered
Chosen Option : 2

Q.8 Children’s Day : Jawahar Lal Nehru:: International Day of Non-Violence: ?
What will come in place of question mark?

Ans  # 1. Mahatma Gandhi
#< 2. Bhagat Singh
X 3. Subhash Chandra Bose
X 4. Sardar Patel

Question ID : 630680370352

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801442794
6306801442796
6306801442795
6306801442793
Marked For Review
1
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Q.9 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statement(s).

Statements:
1. All rugs are carpets.
2. All carpets are mats.

Conclusions:

|. Some carpets are rugs.
Il. All rugs are mats.

lll. Some mats are rugs.

Ans X 1.Only conclusions Il and I follow
& 2. Only conclusions | and Ill follow
4# 3. All conclusions follow

5 4. Only conclusions | and Il follow

Question ID : 630680370341
Option 1 ID : 6306801442750
Option 2 ID : 6306801442751
Option 3 ID : 6306801442752
Option 4 ID : 6306801442749
Status : Answered
Chosen Option : 1

Q.10 If all letters are dropped, how many numbers are there which are preceded by
symbols?
E@5CQ%J9A4*U*B25>V+P7ZA(STMV6#JL:S

Ans 1.5
K27
< 3.6
X 4.4

Question ID : 630680370351
Option 1 ID : 6306801442791
Option 2 ID : 6306801442790
Option 3 ID : 6306801442789
Option 4 ID : 6306801442792
Status : Answered
Chosen Option : 1

Q.11 Select the option that is related to the fifth number in the same way as the second
number is related to the first number and the fourth number is related to the third
number.
84:49::156:91::96:7

Ans X 1.59
o 2.56
X 3.61
X 4131

Question ID : 630680370361
Option 1 ID : 6306801442829
Option 2 ID : 6306801442831
Option 3 ID : 6306801442830
Option 4 ID : 6306801442832
Status : Answered
Chosen Option : 2
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Q.12 Select the number from among the given options that can replace the question mark
(?) in the following series.
125, 136, 158, 191, 235, ?

Ans X 1.280

X 2.270
o 3.290
X 4.279

Question ID : 630680370355
Option 1 ID : 6306801442808
Option 2 ID : 6306801442807
Option 3 ID : 6306801442806
Option 4 ID : 6306801442805
Status : Answered
Chosen Option : 3

Q.13 Select the letter-number cluster from among the given options that can replace the
question mark (?) in the following series.
X5LT, W8PO, V14TJ, U23XE, ?

Ans o 1.T35BZ
X 2. U32EA
X 3.T35EZ
X 4.U36CZ

Question ID : 630680370343
Option 1 ID : 6306801442759
Option 2 ID : 6306801442758
Option 3 ID : 6306801442757
Option 4 ID : 6306801442760
Status : Answered
Chosen Option : 1

Q.14 Anya, Lakshya, Mrinal, Noman, Urwa and Gursharan are sitting in a straight-line facing
North (but not necessarily in the same order). Only three students are sitting between
Gursharan and Noman. Mrinal has Anya and Lakshya as his immediate neighbours.
Anya is second to the right of Urwa. Lakshya is second to the right of Anya. Noman is
to the immediate right of Lakshya. Gursharan is to the immediate right of Urwa. Who
among the following is sitting on the extreme left end?

Ans X 1.Lakshya
o 2. Urwa
< 3. Noman
75 4. Mrinal

Question ID : 630680370338
Option 1 ID : 6306801442737
Option 2 ID : 6306801442740
Option 3 ID : 6306801442739
Option 4 ID : 6306801442738
Status : Answered
Chosen Option : 2
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Q.15 Select the option in which the letter-clusters share the same relationship as that
shared by the given pairs of letter-clusters.
ESRA : ZHIF
OLET : JOVY

Ans X 1.VTXB:QGCF
o 2. MXBS : HCYX
< 3.REVA:LVEF
& 4.CSUW : XHFU

Question ID : 630680370348
Option 1 ID : 6306801442777
Option 2 ID : 6306801442780
Option 3 ID : 6306801442778
Option 4 ID : 6306801442779
Status : Not Answered
Chosen Option : --

Q.16 Six friends -Baani, Charu, Premjeet, Husain, Surya and Leena are sitting around a
circular table facing the centre (but not necessarily in the same order). Premjeet is the
immediate neighbour of Charu and Surya. Leena is sitting to the immediate left of
Baani. Husain is the immediate neighbour of Charu and Leena. Who is the only person
sitting between Leena and Surya?

Ans X 1.Charu
& 2. Husain
¥ 3. Baani
< 4. Premjeet

Question ID : 630680370337
Option 1 ID : 6306801442735
Option 2 ID : 6306801442733
Option 3 ID : 6306801442734
Option 4 ID : 6306801442736
Status : Not Answered
Chosen Option : --

Q.17 This question is based on the following 3-letter words.
(Left) BAY PAN ICE ACT (Right)
How many letters are there in the English alphabetical order between the third letter of
the first word from the right end and the third letter of the first word from the left end
of the given series?

Ans X 1.TWO
o 2. FOUR
< 3.0ONE
X 4. THREE

Question ID : 630680370345
Option 1 ID : 6306801442767
Option 2 ID : 6306801442766
Option 3 ID : 6306801442768
Option 4 ID : 6306801442765
Status : Answered
Chosen Option : 4
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Q.18 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.
DLK, GGR, JBY, MWF, ?

Ans X 1.PRN
< 2.0SN
X 3.08M
4. PRM

Question ID : 630680370342
Option 1 ID : 6306801442755
Option 2 ID : 6306801442753
Option 3 ID : 6306801442756
Option 4 ID : 6306801442754
Status : Answered
Chosen Option : 4

Q.19 Tarapur Plant: Maharashtra::Narora Plant:?
What will come in place of question mark?

Ans o 1. Uttar Pradesh
X 2. Punjab
& 3. Haryana
& 4. Madhya Pradesh

Question ID : 630680370354
Option 1 ID : 6306801442804
Option 2 ID : 6306801442802
Option 3 ID : 6306801442801
Option 4 ID : 6306801442803
Status : Not Answered
Chosen Option : --

Q.20 Four letter-cluster pairs have been given, out of which three are alike in some manner
and one is different. Select the one that is different.

Ans X 1.SVM:VER
5 2. MXR : PCW
" 3. BUW : EFA
& 4.GRK:JIP

Question ID : 630680370350
Option 1 ID : 6306801442785
Option 2 ID : 6306801442788
Option 3 ID : 6306801442787
Option 4 ID : 6306801442786
Status : Answered
Chosen Option : 1
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Q.21 If ‘4’ means ‘~’, ‘-’ means ‘x’, ‘x’ means ‘+’, ‘+’ means ‘+’, what will come in place of the
question mark (?) in the following equation?
16 -2 +70 x 7 +10 =?

Ans o 1.32
X 2.30
X 3.302
X 4114
Question ID : 630680370358
Option 1 ID : 6306801442819
Option 2 ID : 6306801442818
Option 3 ID : 6306801442820
Option 4 ID : 6306801442817
Status : Answered
Chosen Option : 1
Q.22 ‘AR16’ is related to ‘UW25’ in a certain way. In the same way, ‘ZM49’ is related to
‘TR64’. To which of the following is ‘JJ36’ related following the same logic?
Ans X 1.D0O45
" 2. D049
& 3.E045
& 4.EP49
Question ID : 630680370347
Option 1 ID : 6306801442774
Option 2 ID : 6306801442775
Option 3 ID : 6306801442776
Option 4 ID : 6306801442773
Status : Not Answered
Chosen Option : --
Q.23 Select the option that is related to the fifth number in the same way as the second
number is related to the first number and the fourth number is related to the third
number.
8:100::10:144::18: 7
Ans X 1.324
" 2.400
< 3.484
K 4441
Question ID : 630680370360
Option 1 ID : 6306801442825
Option 2 ID : 6306801442826
Option 3 ID : 6306801442827
Option 4 ID : 6306801442828
Status : Answered
Chosen Option : 2
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Q.24 India: Tiger::Bangladesh:?
What will come in place of question mark?

Ans X 1.Elephant

& 2. Swamp Deer
< 3. Lion

«" 4. Tiger

Question ID : 630680370353
Option 1 ID : 6306801442798
Option 2 ID : 6306801442800
Option 3 ID : 6306801442797
Option 4 ID : 6306801442799
Status : Marked For Review
Chosen Option : 2

Q.25 If ‘R’ stands for addition, ‘T’ stands for subtraction, ‘S’ stands for multiplication and ‘U’
stands for division, then what is the value of ‘6 T14R28U 7 S 157

Ans " 1.52
X 222
< 3.54
X 4.24

Question ID : 630680370357
Option 1 ID : 6306801442816
Option 2 ID : 6306801442813
Option 3 ID : 6306801442814
Option 4 ID : 6306801442815
Status : Answered
Chosen Option : 1

Section : General Awareness

Q.1 Bastar Dussehra is a festival unique to
Ans X 1. Madhya Pradesh

< 2.Bihar
4 3. Chhattisgarh
& 4. Uttar Pradesh

Question ID : 630680370329
Option 1 ID : 6306801442703
Option 2 ID : 6306801442702
Option 3 ID : 6306801442701
Option 4 ID : 6306801442704
Status : Not Answered
Chosen Option : --
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Q.2 Red algae gets its colour from the pigment
Ans X 1. chlorophyll d

#5 2. chlorophyll a
" 3. phycoerythrin
X 4. fucoxanthin

Question ID : 630680370336
Option 1 ID : 6306801442730
Option 2 ID : 6306801442729
Option 3 ID : 6306801442732
Option 4 ID : 6306801442731
Status : Not Answered
Chosen Option : --
Q.3 The Central Institute of Indian Languages was set up in the year
Ans X 1.1979
& 2.1949
«" 3. 1969
& 4.1959
Question ID : 630680370327
Option 1 ID : 6306801442695
Option 2 ID : 6306801442693
Option 3 ID : 6306801442694
Option 4 ID : 6306801442696
Status : Not Answered
Chosen Option : --
Q.4 In February 2023, the Government of India announced that the ‘Naya Savera’ Scheme
implemented by the Ministry of Minority Affairs, was/would be discontinued with effect
from fiscal year
Ans X 1.2023-24
X 2.2021-22
" 3.2022-23
X 4.2024-25
Question ID : 630680370316
Option 1 ID : 6306801442651
Option 2 ID : 6306801442649
Option 3 ID : 6306801442650
Option 4 ID : 6306801442652
Status : Answered
Chosen Option : 4
Q.5 Which of the following statements about ‘Akbar Nama’ is INCORRECT?
Ans X 1. ‘Akbar Nama’ contains a volume dedicated to administration, household, army, the
revenues and the geography of the empire.
25 2. ‘Akbar Nama' is a three-volume history of Akbar’s reign.
& 3. ‘Akbar Nama’ was written by Abul Fazl.
" 4. ‘Badshah Nama'’ is a part of ‘Akbar Nama’.
Question ID : 630680370323
Option 1 ID : 6306801442680
Option 2 ID : 6306801442678
Option 3 ID : 6306801442677
Option 4 ID : 6306801442679
Status : Answered
Chosen Option : 4
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Q.6 The reign of Mamluk ruler came to an end in AD 1240.
Ans X 1. Ghiyasuddin Balban
" 2. Raziyya

< 3. Shamsuddin lltutmish
5 4. Qutbuddin Aybak

Question ID : 630680370321
Option 1 ID : 6306801442669
Option 2 ID : 6306801442671
Option 3 ID : 6306801442670
Option 4 ID : 6306801442672
Status : Answered
Chosen Option : 4

Q.7 The Bihar Provincial Kisan Sabha was a peasant organisation founded in
Ans X 1.1918

o 2.1929
& 3.1921
& 4.1912
Question ID : 630680370319
Option 11D : 6306801442661
Option 2 ID : 6306801442663
Option 3 ID : 6306801442664
Option 4 ID : 6306801442662
Status : Not Answered
Chosen Option : --
Q8 ¢ : From Cricket to Cancer and Back’ is an autobiography by Yuvraj Singh.

Ans X 1.The Pitch of My Life
& 2. The Googly of My Life
5 3. The Match of My Life
" 4. The Test of My Life

Question ID : 630680370325
Option 1 ID : 6306801442687
Option 2 ID : 6306801442688
Option 3 ID : 6306801442685
Option 4 ID : 6306801442686
Status : Answered
Chosen Option : 1

Q.9 Including the island groups, India's coastline measures a total of about
kilometres.

Ans o 1.7,516.6
X 2.7,328.8
< 3.7,183.3
< 4.7,964.4

Question ID : 630680370332
Option 1 ID : 6306801442715
Option 2 ID : 6306801442713
Option 3 ID : 6306801442716
Option 4 ID : 6306801442714
Status : Marked For Review
Chosen Option : 2
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Ans

Q.10 The reign of began around AD 985.

& 1. Rajendra Chola |
«# 2. Rajaraja Chola |
& 3. Vijayalaya Chola
% 4. Virarajendra Chola

Chosen Option :

Question ID : 630680370322
Option 1 ID : 6306801442674
Option 2 ID : 6306801442673
Option 3 ID : 6306801442675
Option 4 ID : 6306801442676
Status : Not Answered
Chosen Option : --
Q.11 Which of the following rivers takes a ‘U’ turn at the Namcha Barwa and enters India in
Arunachal Pradesh through a gorge?
Ans X 1.Beas
" 2. Brahmaputra
< 3. Mahanadi
< 4. Alakananda
Question ID : 630680370333
Option 1 ID : 6306801442718
Option 2 ID : 6306801442720
Option 3 ID : 6306801442719
Option 4 ID : 6306801442717
Status : Not Answered
Chosen Option : --
Q.12 was actively involved in the setting up of the Oudh (Awadh) Kisan Sabha in
1920.
Ans X 1.BK Dutt
" 2. Baba Ramchandra
25 3. Shaukat Ali
X 4. S Subramania lyer
Question ID : 630680370320
Option 1 ID : 6306801442668
Option 2 ID : 6306801442666
Option 3 ID : 6306801442667
Option 4 ID : 6306801442665
Status : Not Answered
Chosen Option : --
Q.13 The Mamallapuram Dance Festival was first introduced in the year
Ans X 1.1998
o 2.1992
< 3.1996
£ 4.1994
Question ID : 630680370330
Option 1 ID : 6306801442707
Option 2 ID : 6306801442708
Option 3 ID : 6306801442705
Option 4 ID : 6306801442706
Status : Not Answered
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Q.14 Which of the following statements is INCORRECT?

Ans X 1. Marginal propensity to save (MPS) is the change in savings per unit change in

income.

25 2. Average propensity to save (APS) is the savings per unit of income.

" 3. Marginal propensity to consume (MPC) is the change in production per unit change

in income.

< 4. Average propensity to consume (APC) is the consumption per unit of income.

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

630680370317
6306801442654
6306801442656
6306801442653
6306801442655
Not Answered

Ans

2 1. Pongal

#< 2. Anant Chaturdashi
#< 3. Gudi Padwa

¥ 4. Durga Puja

Q.15 With which of the following festivals are ‘Dhaki’ drummers generally associated?

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

630680370328
6306801442697

: 6306801442700
Option 31D :

6306801442699

: 6306801442698
Status :
Chosen Option :

Marked For Review
4

Ans

Q.16 As income increases,

#< 1. the demand for money remains constant
& 2. there is no demand for money at all
& 3. the demand for money decreases

4 4. the demand for money increases

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

630680370318
6306801442659

: 6306801442660
Option 31D :

6306801442657

: 6306801442658
Status :
Chosen Option :

Answered
2

Ans

payload/s in a low earth orbit.

X 1. six
X 2.0ne
o 3. two
& 4. five

Q.17 As announced by ISRO (Indian Space Research Organisation) in May 2023, XPoSat -
India’s first polarimetry mission, will carry

Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

630680370315
6306801442648
6306801442645
6306801442646
6306801442647
Answered

1
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Q.18 Virgin vegetation that is purely Indian can be termed as * ’ species.
Ans X 1. erratic
< 2. ergotic
" 3. endemic
5 4. ectopic
Question ID : 630680370331
Option 1 ID : 6306801442711
Option 2 ID : 6306801442709
Option 3 ID : 6306801442710
Option 4 ID : 6306801442712
Status : Not Answered
Chosen Option : --
Q.19 The Bhagvad Gita is believed to be a conversation between
Ans " 1. Prince Arjun and Lord Krishna
< 2. Lord Ram and his brother Laxman
7% 3. Lord Ram and his devotee Hanuman
&5 4. Queen Draupadi and Lord Krishna
Question ID : 630680370324
Option 1 ID : 6306801442684
Option 2 ID : 6306801442683
Option 3 ID : 6306801442681
Option 4 ID : 6306801442682
Status : Answered
Chosen Option : 1
Q.20 of the Constitution of India states that ‘The official language of the Union shall
be Hindi in Devanagari script’.
Ans X 1.Article 299 (1)
25 2. Article 226 (1)
¥ 3. Article 343 (1)
< 4. Article 311 (1)
Question ID : 630680370326
Option 1 ID : 6306801442692
Option 2D : 6306801442690
Option 3 ID : 6306801442689
Option 4 ID : 6306801442691
Status : Answered
Chosen Option : 3
Q.21 As per the Census of India 2011, of the total population of the country,
Hindus.
Ans X 1.67.40%
X 2.86.60%
X 3.52.30%
o 4.79.80%
Question ID : 630680370334
Option 1 ID : 6306801442722
Option 2 ID : 6306801442724
Option 3 ID : 6306801442721
Option 4 ID : 6306801442723
Status : Answered
Chosen Option : 4
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Q.22 How many teams participated in the inaugural edition (2023) of the cricket Women’s
Premier League (WPL)?

Ans X 1.Nine
o 2. Five
< 3.Seven
X 4. Eight

Question ID : 630680370312
Option 1 ID : 6306801442633
Option 2 ID : 6306801442636
Option 3 ID : 6306801442634
Option 4 ID : 6306801442635
Status : Not Answered
Chosen Option : --

Q.23 As per the Census of India 2011, the male population of the country increased by
between 2001 and 2011.

Ans X 1.29.08%

X 2.9.34%

< 3.32.45%

o 4.17.19%
Question ID : 630680370335
Option 1 ID : 6306801442726
Option 2 ID : 6306801442727
Option 3 ID : 6306801442725
Option 4 ID : 6306801442728

Status : Not Answered
Chosen Option : --
Q.24 The first ever Formula E Championship race in India was held in in February
2023.

Ans X 1.Karnataka
& 2. Madhya Pradesh
¥ 3. Telangana
< 4. Uttar Pradesh

Question ID : 630680370314
Option 1 ID : 6306801442644
Option 2 ID : 6306801442641
Option 3 ID : 6306801442643
Option 4 ID : 6306801442642
Status : Answered
Chosen Option : 1
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Q.25 won a gold medal in the 10 m air rifle mixed team at the ISSF (International
Shooting Sports Federation) World Cup held in Cairo, in February 2023.

Ans X 1.Amit Rohidas
& 2. Vivek Sagar Prasad
4 3. Rudrankksh Balasaheb Patil
< 4. Birendra Lakra

Question ID : 630680370313
Option 1 ID : 6306801442638
Option 2 ID : 6306801442639
Option 3 ID : 6306801442637
Option 4 ID : 6306801442640
Status : Marked For Review
Chosen Option : 4

Section : Quantitative Aptitude (Basic Arithmetic Skill)

Q.1 Worker A can complete a task in 12 days. Worker B can complete the same task in 8 days, and Worker C can complete it
in 6 days. In the beginning, Worker A and Worker B worked together for 4 days: after thar, they left the work, and then
Worker C completed the work. In how many days did Worker C complete the rest of the work?

Ans X' 1 G
X 2
X 3.
w4,

ks Lh

—

Question ID : 630680370373
Option 1 ID : 6306801442878
Option 2 ID : 6306801442877
Option 3 ID : 6306801442879
Option 4 ID : 6306801442880
Status : Answered
Chosen Option : 4

Q.2 Ina circle with a radius of 10 cm. what 15 the length of an arc that subtends a central angle of 90 degrees?
Ans X 1. 15t cm

« 2. 5mcm
X3 5tm
X4 5cm

Question ID : 630680370382
Option 1 ID : 6306801442914
Option 2 ID : 6306801442916
Option 3 ID : 6306801442913
Option 4 ID : 6306801442915
Status : Not Answered
Chosen Option : --
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Q.3 Ruby purchased orange at the rate of Rs. 5 for 4 and sold them at the rate of 4 for Rs.5.
Find her gain percent.

Ans o 1.56.25%

7 2.52.25%
< 3.54.25%
X 4.47.25%

Question ID : 630680370374
Option 1 ID : 6306801442884
Option 2 ID : 6306801442882
Option 3 ID : 6306801442881
Option 4 ID : 6306801442883
Status : Answered
Chosen Option : 1

Q.4 Two shirts were purchased by a shopkeeper for 500 each. and thev were sold for 600 and 650, respectively.
Determine the shop owner's percentage of profit.

Ans X' 1. 2.5%
v 2 25%
X3 15%
X4 1.5%

Question ID : 630680370367
Option 1 ID : 6306801442855
Option 2 ID : 6306801442854
Option 3 ID : 6306801442853
Option 4 ID : 6306801442856
Status : Answered
Chosen Option : 2

Q.5 A sum of Rs. 9600 is invested for 3 years at 10% per annum compound interest. Find
the compound interest earned at the end of 3 year.

Ans 4 1.Rs.3177.6
X 2.Rs.4277.4
< 3.Rs. 27524
X 4.Rs. 41455

Question ID : 630680370375
Option 1 ID : 6306801442885
Option 2 ID : 6306801442888
Option 3 ID : 6306801442886
Option 4 ID : 6306801442887
Status : Answered
Chosen Option : 1
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Q6 IfX+Y=12,Y+Z=16andZ+X= 14, then the product of X, Y and Z is:
Ans X' 1..515

2 315

X3 212

x4 21

Question ID : 630680370377
Option 1 ID : 6306801442895
Option 2 ID : 6306801442893
Option 3 ID : 6306801442896
Option 4 ID : 6306801442894
Status : Answered
Chosen Option : 2

Q.7 The sum of the ages of a father and his son is 58. Five years ago, the father was five times as old as his son. Determine
the current age of the son.

Ans X 1. 11 years
« 2. 13 years
X 3. 12 years
X 4. 15 years

Question ID : 630680370378
Option 1 ID : 6306801442898
Option 2 ID : 6306801442899
Option 3 ID : 6306801442897
Option 4 ID : 6306801442900
Status : Not Answered
Chosen Option : --

Q.8 Three workers X Y. and Z can complete a construction project in 4 days if they work together. Worker X can complete
the project alone in {0 days. while Worker ¥ can complete it alone in |5 davs. Determine how long it wonld take
Worker Z to complete the projeet alone.

Ans X 1. 10 days
X 2. 15 days
« 3. 12 days
X 4. 14 days

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680370372
6306801442873
6306801442875
6306801442876
6306801442874
Answered

3
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Q.9 The price of a cycle was initially 33,000. Over the course of a year. it increased by 20%. However. in the following
year. it decreased by 15% from the increased price. What is the percentage change in the price of the cycle over the
two—vear period?

Ans X 1. No change
X2 2.5%
X3 1%
o 4 2%

Question ID : 630680370365
Option 1 ID : 6306801442845
Option 2 ID : 6306801442848
Option 3 ID : 6306801442846
Option 4 ID : 6306801442847
Status : Answered
Chosen Option : 4

Q.10 From point A on the ground, the angle of elevation to the top of a vertical tower is 45 degrees. The person moves 20
metres closer fo the tower and finds that the angle of elevation is now 60 degrees. What is the height of the tower?

Ans X 1. 10
v 2 30+ 103
X3 4043
X4 30V3

Question ID : 630680370385
Option 1 ID : 6306801442926
Option 2 ID : 6306801442925
Option 3 ID : 6306801442928
Option 4 ID : 6306801442927
Status : Not Answered
Chosen Option : --

Q.11 A person borrows 25,000 from a bank at an annual interest rate of 8%, Caleulate the simple interest earned by the bank
after 18 months.

Ans X 1..3900
X 2. 2500
X 3. 3800
+ 4. 3600

Question ID : 630680370371
Option 1 ID : 6306801442871
Option 2 ID : 6306801442872
Option 3 ID : 6306801442869
Option 4 ID : 6306801442870
Status : Not Answered
Chosen Option : --
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Q12 Simplify the expression:

(3a—b)* + (b— 3a)y
Ans 51
X2 27a® + b3
X3 1
X4 09g2 + p?

Question ID : 630680370376
Option 1 ID : 6306801442890
Option 2 ID : 6306801442892
Option 3 ID : 6306801442889
Option 4 ID : 6306801442891
Status : Not Answered
Chosen Option : ==

Q.13 A sphere has a volume of 2887 cubic units. Find the radius of the sphere.
Ans X 1. 3 units

X 2. 8 units

+ 3. 6 units

X 4. 4 units

Question ID : 630680370380
Option 1 ID : 6306801442906
Option 2 ID : 6306801442908
Option 3 ID : 6306801442905
Option 4 ID : 6306801442907
Status : Answered
Chosen Option : 3

Q.14 Inasmall town, there are 800 eligible voters. In an slection. candidate A received 70% of the votes, candidate B
received 25% of the votes, and the remaining votes were invalid. How many veotes wete invalid?

Ans X 1. 80
X2 45
X 3. 50
4 40

Question ID : 630680370366
Option 1 ID : 6306801442849
Option 2 ID : 6306801442851
Option 3 ID : 6306801442852
Option 4 ID : 6306801442850
Status : Answered
Chosen Option : 4
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Q.15 Ashopping mall is offering a discount of 15% on a product with a marked price of 22,000, However. if a customer pays
within [0 days, they receive an additional 2% discount on the already disconnted price. Caleulate the final selling price
for a customer who pays within 10 days.

Ans 1 31,666
X 2. 21,700
X 3. 21,766
X 4. 21,660

Question ID : 630680370368
Option 1 ID : 6306801442857
Option 2 ID : 6306801442858
Option 3 ID : 6306801442859
Option 4 ID : 6306801442860
Status : Not Answered
Chosen Option : ==

Q16 Simplify the following:

J@5—9)+ @ -2)
Ans X 1. 10

72 12

X3 20

X4 28

Question ID : 630680370362
Option 1 ID : 6306801442836
Option 2 ID : 6306801442835
Option 3 ID : 6306801442834
Option 4 ID : 6306801442833
Status : Answered
Chosen Option : 2

Q.17 Arecipe for a cake requires a ratio of 2 cups of flour to 1 cup of sugar. For making two such cakes, if vou have 12 cups
of flour, how many cups of sugar do you need to maintain the same ratio?

Ans X 1. |2
X2 3
36
X409

Question ID : 630680370369
Option 1 ID : 6306801442864
Option 2 ID : 6306801442862
Option 3 ID : 6306801442861
Option 4 ID : 6306801442863
Status : Answered
Chosen Option : 3
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partner A?

Ans X 1. 320,000
X 2. 215,000
v 3. 210,000
X 4. 325,000

Q.18 A, B, and C, three partners, decide to start a business together. They each provide a capital contribution in the
proportion of 3¢ 4 © 5. They make 260,000 in profit after a year. How much more money did partner C make than

Question ID : 630680370370
Option 1 ID : 6306801442868
Option 2 ID : 6306801442867
Option 3 ID : 6306801442866
Option 4 ID : 6306801442865
Status : Answered
Chosen Option : 3
Q.19 The length and breadth of a rectangle are in the ratio 5 ; 3, and the breadth of the rectangle is 15 m. Find its perimeter.
Ans X 1. 375m
¥ 2. 80 m
X3 750 m
X4 40m
Question ID : 630680370379
Option 1 ID : 6306801442901
Option 2 ID : 6306801442904
Option 3 ID : 6306801442903
Option 4 ID : 6306801442902
Status : Answered
Chosen Option : 2
Q.20 Which type of quadrilateral has all four sides of equal length and all interior angles of equal measura?
Ans X 1. Rhombus
X 2. Rectangle
« 3. Square
X 4. Parallelogram
Question ID : 630680370383
Option 1 ID : 6306801442920
Option 2 ID : 6306801442919
Option 3 ID : 6306801442918
Option 4 ID : 6306801442917
Status : Answered
Chosen Option : 3
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Q21 Find the volume of a cone with a height of 15 cm and a slant height of 17 cm.
X 1. 960w o

X 2. 320 cm

X 3. 1080 wem®

4. 3201 cm?

Ans

Status

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

630680370381

6306801442910
6306801442912
6306801442911
6306801442909

: Not Answered
Chosen Option :

Q22 gimplify the following:

(4+3%x2—1%x5)+(3x2—1)

Ans 21 1
X2 12
X3 2
X4 15
Question ID : 630680370363
Option 1 ID : 6306801442837
Option 2 ID : 6306801442839
Option 3 ID : 6306801442840
Option 4 ID : 6306801442838
Status : Answered
Chosen Option : 1
Q.23 Which property of quadrilaterals states that the opposite angles of a parallelogram are equal?
Ans X 1. Rhombus property
X 2. Rectangle property
« 3. Parallelogram property
X 4. Trapezoid property
Question ID : 630680370384
Option 1 ID : 6306801442923
Option 2 ID : 6306801442922
Option 3 ID : 6306801442921
Option 4 ID : 6306801442924
Status : Not Answered
Chosen Option : --
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Q.24 A class has two sections: A and B. There are 30 smdents in Section A and 20 students in Section B. The average marks
seared by the students in Section A are 60, and the average marks scored by the students in Section B are 80. Find the
weighted average marks obtained by the whole class.

Ans 1. 80
v 2 68
X 3. 60
X4 89

Question ID : 630680370364
Option 1 ID : 6306801442843
Option 2 ID : 6306801442842
Option 3 ID : 6306801442841
Option 4 ID : 6306801442844
Status : Answered
Chosen Option : 2

Q25 The expression tan(x) / sec(x) is equal to:
Ans X 1. ¢se (x)

o 2. sin(x)

X 3. sec(x)

X 4 cos(x)

Question ID : 630680370386
Option 1 ID : 6306801442932
Option 2 ID : 6306801442931
Option 3 ID : 6306801442930
Option 4 ID : 6306801442929
Status : Not Answered
Chosen Option : --

Section : English Language (Basic Knowledge)

Q.1 Select the most appropriate option with the correct homophones to fill in the blanks.
The ____ walked foot in the park.

Ans X 1.bare; beer
X 2. bare; bear
" 3. bear; bare
X 4. bear; beer

Question ID : 630680370311
Option 1 ID : 6306801442629
Option 2 ID : 6306801442632
Option 3 ID : 6306801442630
Option 4 ID : 6306801442631
Status : Answered
Chosen Option : 3
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Q.2 Select the most appropriate option to fill in the blank.
, | accidentally bumped my knee on the table.
Ans X 1.Bravo!
& 2. Hurray!
4" 3. Ouch!
5 4. Hideous!
Question ID : 630680370302
Option 1 ID : 6306801442594
Option 2 ID : 6306801442595
Option 3 ID : 6306801442596
Option 4 ID : 6306801442593
Status : Answered
Chosen Option : 3
Q.3 Select the option with correct spelling to fill in the blank.
The of their actions were severe, resulting in significant financial losses.
Ans X 1.concequences
X 2. conssequences
25 3. consequenses
«# 4. consequences
Question ID : 630680370309
Option 1 ID : 6306801442621
Option 2 ID : 6306801442623
Option 3 ID : 6306801442622
Option 4 ID : 6306801442624
Status : Answered
Chosen Option : 4
Q.4 Select the most appropriate option with the correct homophones to fill in the blanks.
The rode his horse at to the castle.
Ans X 1.night; night
" 2. knight; night
Z5 3. knight; knight
25 4. night; knight
Question ID : 630680370310
Option 1 ID : 6306801442625
Option 2 ID : 6306801442628
Option 3 ID : 6306801442626
Option 4 ID : 6306801442627
Status : Answered
Chosen Option : 2
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Q.5 Select the most appropriate option that can substitute the bracketed word segment in
the given sentence. If there is no need to substitute it, select ‘No correction needed’.
(No sooner did we arrived) at the hotel than we got into an argument with the
receptionist.

Ans  &# 1. No sooner did we arrive
2% 2. No correction needed
&< 3. No sooner had we arrive

2 4. No sooner did we arriving

Question ID : 630680370293
Option 1 ID : 6306801442560
Option 2 ID : 6306801442557
Option 3 ID : 6306801442558
Option 4 ID : 6306801442559
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate option to fill in the blanks.

As the day progressed, Raj's kite with other kites in the sky, creating a
dance of colours and shapes. People cheered and , enchanted by the breath-
taking display. Raj felt an indescribable and a deep connection with the
elements.

Ans & 1. entwined; mesmerising; applauded; joy
5 2. moulded; magnetic; cheered; glee
#< 3. integrated; hypnotic; approved; bliss

& 4. united; tempting; commended; melancholy

Question ID : 630680370297
Option 1 ID : 6306801442575
Option 2 ID : 6306801442574
Option 3 ID : 6306801442573
Option 4 ID : 6306801442576
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate option to fill in the blanks.

Once upon a time, in aworld _____ apart by conflict and discord, a young girl named
Maya on a remarkable journey in search of true peace. She had heard tales of a
legendary land where harmony reigned, and people with respect and
understanding. Her journey took her through bustling cities, war-torn regions, and
serene landscapes. Along the way, she met individuals from different cultures, each
carrying their own stories and ____ from the conflicts they had experienced.

Ans X 1. damaged; off; reconciled; torture
25 2. cracked; travelling; attuned; wounds
5 3. broken; boarded; synchronise; blisters

¥ 4. torn; embarked; coexisted; scars

Question ID : 630680370299
Option 1 ID : 6306801442584
Option 2 ID : 6306801442583
Option 3 ID : 6306801442581
Option 4 ID : 6306801442582
Status : Answered
Chosen Option : 4
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Q.8 Sentences of a paragraph are given below. While the first and the last sentences are in
the correct order, the sentences in between are jumbled up. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

1) In a world plagued by rising temperatures, a community lived amidst the
consequences of global warming.

2) The melting polar ice caps heightened fears of coastal flooding, displacing many
from their homes and wildlife faced the brink of extinction, their habitats irreversibly
damaged.

3) Renewable energy sources gained prominence, replacing fossil fuels in a bid to
combat climate change.

4) The once vibrant landscapes had withered, and natural resources dwindled as
heatwaves intensified and people struggled to find relief from the scorching summers.
5) Realising the urgency, scientists and activists united to raise awareness and
promote sustainable practices.

6) The world witnessed the power of collective action, as governments and individuals
embraced greener lifestyles and slowly, the planet began to heal, and hope rekindled
for a brighter, sustainable future.

Ans X' 1.1,3,4,2,56
2 2.1,234,56
" 3.1,4,25,3,6
X 4.1,54,3,26

Question ID : 630680370295
Option 1 ID : 6306801442567
Option 2 ID : 6306801442565
Option 3 ID : 6306801442566
Option 4 ID : 6306801442568
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate ANTONYM of the given word.
Empathy

Ans X 1. Affinity
" 2. Disdain
75 3. Solace
25 4. Sympathy

Question ID : 630680370306
Option 1 1D : 6306801442609
Option 2 ID : 6306801442612
Option 3 ID : 6306801442611
Option 4 ID : 6306801442610
Status : Marked For Review
Chosen Option : 2
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Q.10 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

1) One day, Raj stumbled upon an old, tattered book in his attic that revealed the
secrets of crafting a unique and extraordinary kite that possessed magical powers.

2) Determined to create this special kite, Raj embarked on a journey to gather the rare
materials required and with the help of his wise grandfather, Raj collected shimmering
silk, bamboo sticks, and enchanted feathers from distant lands.

3) Days turned into nights as he meticulously crafted the kite, pouring his heart and
soul into every stitch and finally when the day of the kite festival arrived, he stepped
onto the open field, his eyes fixed on the vast sky above and he launched the kite into
the air.

4) In a small village nestled near the foothills, there lived a young boy named Raj, who
was fascinated by the colourful kites that danced gracefully in the sky during the
annual kite festival and he dreamt of mastering the art of kite flying and becoming the
best kite flyer in the village.

Ans X 1.3,1,2,4
X 2.1,4,3,2
& 3.4,1,23
5 4.2,1,3,4

Question ID : 630680370296
Option 1 ID : 6306801442572
Option 2 ID : 6306801442570
Option 3 ID : 6306801442571
Option 4 1D : 6306801442569
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate option to fill in the blanks.

In a small town named Sunnyville, the ___ of summer was always met with great
excitement and anticipation. The town's residents’ prepared for the adventures
and that the season would bring. As the first rays of summer sunshine touched the
town, children burst out of their homes, ready to ___ on their summer escapades.
They formed a close-knit group called the ‘Sunshine Squad’, who ___ to make every
day of summer unforgettable.

Ans X 1.influx; charm; inaugurate; agreed
X 2. entrance; comfort; launch; swore
#< 3. homecoming; cheer; initiate; assured

" 4. arrival; joys; embark; vowed

Question ID : 630680370298
Option 1 ID : 6306801442578
Option 2 ID : 6306801442580
Option 3 ID : 6306801442579
Option 4 ID : 6306801442577
Status : Answered
Chosen Option : 3

Q.12 Which of the following sentences has used the correct spellings of all the words in the
sentence?

Ans X 1. Years passed, and the world gradually embrased a new era of peace.
& 2. Years passed, and the world gradualy embraced a new era of peace.
& 3. Years passed, and the world gradually emmbraced a new era of peace.

«# 4. Years passed, and the world gradually embraced a new era of peace.

Question ID : 630680370308
Option 11D : 6306801442618
Option 2 ID : 6306801442619
Option 3 ID : 6306801442617
Option 4 1D : 6306801442620
Status : Answered
Chosen Option : 4
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Ans

Q.13 Select the most appropriate idiom that means the following.
To face a difficult or unpleasant situation with courage and determination.

" 1. Bite the bullet

& 2. Walk on eggshells
#< 3. Kick the bucket
& 4.Break a leg

Question ID : 630680370304
Option 1 ID : 6306801442604
Option 2 ID : 6306801442603
Option 3 ID : 6306801442601
Option 4 ID : 6306801442602
Status : Answered
Chosen Option : 1
Q.14 Select the most appropriate meaning of the given word.
Legendary
Ans o 1. Fabled
X 2. Real
#< 3. Factual
& 4. Infamous
Question ID : 630680370307
Option 1 ID : 6306801442615
Option 2 ID : 6306801442616
Option 3 ID : 6306801442613
Option 4 ID : 6306801442614
Status : Answered
Chosen Option : 2
Q.15 Select the most appropriate ANTONYM of the given word.
Confidential
Ans X 1. Obscure
& 2. Public
& 3. Hushed
& 4. Arcane
Question ID : 630680370305
Option 1 ID : 6306801442606
Option 2 ID : 6306801442607
Option 3 ID : 6306801442608
Option 4 ID : 6306801442605
Status : Answered
Chosen Option : 2
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Q.16 Select the option that can be used as a one-word substitute for the highlighted words
in the given sentence.
After winning the championship, a feeling of extreme happiness or joy washed over
the team and their fans.

Ans X 1. despair
" 2. euphoria
#< 3. anarchy
& 4.rage
Question ID : 630680370291
Option 1 ID : 6306801442549
Option 2 ID : 6306801442551
Option 3 ID : 6306801442552
Option 4 ID : 6306801442550
Status : Answered
Chosen Option : 2
Q.17 Select the option that can be used as a one-word substitute for the highlighted words
in the given sentence.
The artist known for breaking images and idols was constantly challenging traditional
norms and pushing boundaries with his unconventional and thought-provoking
artworks.
Ans o 1.iconoclast
X 2. disclast
& 3. rheoclast
< 4. osteoclast
Question ID : 630680370292
Option 1 ID : 6306801442555
Option 2 ID : 6306801442556
Option 3 ID : 6306801442554
Option 4 ID : 6306801442553
Status : Not Answered
Chosen Option : --
Q.18 Select the most appropriate option that can substitute the bracketed word segment in
the given sentence. If there is no need to substitute it, select ‘No correction needed’.
Hardly had the sun risen (than the sparrows started chirp)
Ans X 1.and then the sparrows started chirping.
«¥ 2. when the sparrows started chirping.
#5 3. then the sparrows started chirping.
< 4. No correction needed
Question ID : 630680370294
Option 1 ID : 6306801442563
Option 2 ID : 6306801442562
Option 3 ID : 6306801442561
Option 4 ID : 6306801442564
Status : Answered
Chosen Option : 3
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He knows the answer,
Ans o 1.doesn't he?

Q.19 Select the most appropriate question tag to fill in the blank.

< 2. didn't he?
#< 3.did he?
< 4. does he?
Question ID : 630680370301
Option 1 ID : 6306801442592
Option 2 ID : 6306801442590
Option 3 ID : 6306801442591
Option 4 ID : 6306801442589
Status : Answered
Chosen Option : 1
Q.20 Select the most appropriate question tag to fill in the blank.
You haven't seen this movie before,
Ans  &# 1. have you?
& 2. have you!
#< 3. have you.
5 4. had you.
Question ID : 630680370300
Option 1 ID : 6306801442587
Option 2 ID : 6306801442585
Option 3 ID : 6306801442588
Option 4 ID : 6306801442586
Status : Answered
Chosen Option : 1
Q.21 Select the most appropriate meaning of the given proverb.
‘A bird in the hand is worth two in the bush’.
Ans X 1.Something that is fascinating will only last for a short amount of time.
5 2. You can only do so much - you can’t go overboard to complete something.
5 3. It's better to be bereft of what you have than to risk losing everything by seeking to
get more.
«” 4. It's better to be content with what you have than to risk losing everything by seeking
to get more.
Question ID : 630680370303
Option 1 ID : 6306801442600
Option 2 ID : 6306801442599
Option 3 ID : 6306801442597
Option 4 ID : 6306801442598
Status : Answered
Chosen Option : 4



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON

Google Play

Q.22
Ans

Comprehension:
Read the given passage and answer the questions that follow.
Time management is crucial for productivity, success and well-being. In today's fast-paced

world, it's even more essential. Effective time management involves wise allocation of time,
setting priorities and making conscious choices.

Planning is the key. Create a schedule or to-do list to outline tasks and allocate time slots.
This organises the day, sets clear objectives and reduces overcrowding of tasks. Prioritise
tasks based on importance and urgency to focus on what matters most.

Setting boundaries is crucial. Say no to requests or activities that don't align with goals or
priorities. Set limits on external demands, creating space for meaningful work and personal
growth.

Identify and eliminate time-wasting habits. Avoid procrastination, excessive social media use,
and unproductive tasks. Be mindful of these habits and redirect focus to meaningful
endeavours.

Self-care is vital. Allocate time for exercise, relaxation, and loved ones. Take breaks for rest
and rejuvenation, enhancing productivity and preventing burnout.

In conclusion, time management empowers deliberate choices. Plan, prioritise, set
boundaries, and eliminate time-wasting habits. Optimise productivity, achieve balance, and
create space for what truly matters. Time is finite, and how we manage it determines our
fulfilment in personal and professional pursuits.

SubQuestion No : 22
Identify the suitable title for the passage.
& 1. ‘Mastering Planning: To Schedule Tasks’

#5 2. Making Conscious Choices for Personal Growth
+«" 3. ‘Mastering Time: The Key to Productivity and Well-being’
5 4. Setting Limits for Meaningful Work and Personal Growth

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

630680370287
6306801442533
6306801442536
6306801442535
6306801442534
Answered

3
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Q.23
Ans

Comprehension:

Read the given passage and answer the questions that follow.

Time management is crucial for productivity, success and well-being. In today's fast-paced
world, it's even more essential. Effective time management involves wise allocation of time,
setting priorities and making conscious choices.

Planning is the key. Create a schedule or to-do list to outline tasks and allocate time slots.
This organises the day, sets clear objectives and reduces overcrowding of tasks. Prioritise
tasks based on importance and urgency to focus on what matters most.

Setting boundaries is crucial. Say no to requests or activities that don't align with goals or
priorities. Set limits on external demands, creating space for meaningful work and personal
growth.

Identify and eliminate time-wasting habits. Avoid procrastination, excessive social media use,
and unproductive tasks. Be mindful of these habits and redirect focus to meaningful
endeavours.

Self-care is vital. Allocate time for exercise, relaxation, and loved ones. Take breaks for rest
and rejuvenation, enhancing productivity and preventing burnout.

In conclusion, time management empowers deliberate choices. Plan, prioritise, set
boundaries, and eliminate time-wasting habits. Optimise productivity, achieve balance, and
create space for what truly matters. Time is finite, and how we manage it determines our
fulfilment in personal and professional pursuits.

SubQuestion No : 23
Identify the tone of the passage.

«" 1. Informative and persuasive
X 2. Narrative
75 3. Humorous

5 4. Reflective and Inspirational

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

630680370289
6306801442542
6306801442544
6306801442541
6306801442543
Answered

1
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Q.24

Ans

Comprehension:
Read the given passage and answer the questions that follow.

Time management is crucial for productivity, success and well-being. In today's fast-paced
world, it's even more essential. Effective time management involves wise allocation of time,
setting priorities and making conscious choices.

Planning is the key. Create a schedule or to-do list to outline tasks and allocate time slots.
This organises the day, sets clear objectives and reduces overcrowding of tasks. Prioritise
tasks based on importance and urgency to focus on what matters most.

Setting boundaries is crucial. Say no to requests or activities that don't align with goals or
priorities. Set limits on external demands, creating space for meaningful work and personal
growth.

Identify and eliminate time-wasting habits. Avoid procrastination, excessive social media use,
and unproductive tasks. Be mindful of these habits and redirect focus to meaningful
endeavours.

Self-care is vital. Allocate time for exercise, relaxation, and loved ones. Take breaks for rest
and rejuvenation, enhancing productivity and preventing burnout.

In conclusion, time management empowers deliberate choices. Plan, prioritise, set
boundaries, and eliminate time-wasting habits. Optimise productivity, achieve balance, and
create space for what truly matters. Time is finite, and how we manage it determines our
fulfilment in personal and professional pursuits.

SubQuestion No : 24

Select the most appropriate synonym of the highlighted word as used in the passage.
Planning is key

5 1. tone
& 2. auxiliary
«# 3. crucial
X 4. pitch
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

630680370290
6306801442545
6306801442548
6306801442547
6306801442546
Answered

3
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Comprehension:

Read the given passage and answer the questions that follow.

Time management is crucial for productivity, success and well-being. In today's fast-paced
world, it's even more essential. Effective time management involves wise allocation of time,
setting priorities and making conscious choices.

Planning is the key. Create a schedule or to-do list to outline tasks and allocate time slots.
This organises the day, sets clear objectives and reduces overcrowding of tasks. Prioritise
tasks based on importance and urgency to focus on what matters most.

Setting boundaries is crucial. Say no to requests or activities that don't align with goals or
priorities. Set limits on external demands, creating space for meaningful work and personal
growth.

Identify and eliminate time-wasting habits. Avoid procrastination, excessive social media use,
and unproductive tasks. Be mindful of these habits and redirect focus to meaningful
endeavours.

Self-care is vital. Allocate time for exercise, relaxation, and loved ones. Take breaks for rest
and rejuvenation, enhancing productivity and preventing burnout.

In conclusion, time management empowers deliberate choices. Plan, prioritise, set
boundaries, and eliminate time-wasting habits. Optimise productivity, achieve balance, and
create space for what truly matters. Time is finite, and how we manage it determines our
fulfilment in personal and professional pursuits.

SubQuestion No : 25
Q.25 Which of the following is NOT correct about time management?
Ans & 1. Confront procrastination, excessive social media use, and unproductive tasks.

& 2. Repudiate requests or activities that don't align with goals or priorities.
% 3. Take breaks for rest and energise, to enhance productivity and prevent burnout.

/< 4. Generate a schedule or to-do list to outline tasks and allocate time slots.

Question ID : 630680370288
Option 1 ID : 6306801442539
Option 2 ID : 6306801442538
Option 3 ID : 6306801442540
Option 4 ID : 6306801442537
Status : Not Answered
Chosen Option : --
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